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ARFZETIE, KEANOFLEZERGIC 2FIEOT A b GHERE « BhEWEE LIS 2179
7 U MG 21TV, T A Mo TH 2R om ERBEOFER, T0%OT
A RAATICRIETHBELZELZ LN D, 2O00FENENL TS, BEAICIE, @7 L—7
EBICHNENFR—THDLT A NEXZTHHENS, B RFIELZENED 7 Vv —7 (Easy
group) & W72 BIE % fiE)E 5 7 v —7 (Difficult group) (2531, ZDHDOT A KD
IEERESCT A MK HHIR e EDEE BT 5,

EBRFERND, FEEHEON T 2o00GET E BICEASNTZ, 2%V, BY0E % iR
5 7 —>7 (Easy group) & N7z figH 5 27 /—7 (Difficult group) (215,
MAMEBERT A NRA AT OEERLDZ LIZTERMo7c, L LAERS, 7 A MEE$E
ORI HER 2 b4 2 &, FHERMBE (Calculation), FHEWEE LRI (Spot the
difference) & HIZ3HT D BMGREVMEBIN R SN Z ERHL NI o7, FhuE, §HE
RifE (Calculation) « &V VE LRIE (Spot the difference) & H12, &5 72 filE % fiE T
MBAL— N LI N—TOWERE DS, WEERFBEARNTHOAZ— L7 L—
TOREBRE LV S, (1) 7A MPEOEZRIIE VD, (2) 7R MEFEOEZRIIMEL
BHEVWHIZ L ThHD, EHIT, MIEVEELBEOERL LOHEROT v — MERDD,
REE 72 BIEZ RN TR 1Y, 7 A MERICHAMEVELINEZ TLvlFxThsb) &
[EELTWDZ EBHBLMNIC T, 2L, BEREIEE RN -9ERE o8 2 1Y
DO EOMRIT R TH D Z &, £ U THREERBIEL R Z & D3PRE ORI I 25
D2 ENEOYFIIH D EHRIIND,



Bl P.2
T Ak P.2—3
H i
FiE
FER L EZER P.3—9

Calculation (FHERE) D7 A &34
Spot the difference (FEWEEL) D7 & MERSHT

ER)) P.10
Y BN P.10

CER) EBRAM - 77— A P.11—18



W &

Fea DEEZTDHRRIC, [ZobT&x2) EEAITEZE TN, [E9HTER
ER XD TENIIBE VWb DO TH D, ZHUL, —EOMKFICEIATEHZH LM
IELRNDEMEINLEVIHIFHETHY, TOHEFELZALHNTWAZLEFAR L X
WAL HAEDE Y b THD, LT, Z0 THCRIKR OREIXEDO%DOZITIT
BORLEERTIETHLZ L2 EERL, I6IC THDRNE BNEWIFEERICZD
1TEN A AT CTE DA H D Lk TWD (Bandura 1977), 7=, THERIE &
WEEE DT A NOFEDFEWZ ERH L E 725 TV D (AW 2004),

[T &TED, EIHTERY OBVIALRTET N, ADMTEZE Z TEEOERK T
HIUL, TACRNIRE PREI SN AIEERNS, TR b LiE MLV o
ELbhnkhz5Z T, TEHCINE BELL, 7 A NORFE~ORENA U2 Hetk
NEZ 55, Cervone and Peake (1986) TiE, @ TH SR E 1XBIEERO =D D
MO RSIZOMRNDLZ EEHLMNILTODA, Bexr OEBRFERIE, THOHE i
DNFEEEZHTIREERH D Z L E2RB LN D, KED A T 4 ARFZOFEZ YR
FELLT, AN T —bMil&EEFM L, LLT 2 DOERBOERBEZHEDD D,

a1  FEME (Calculation) 7 A MIRBWT, #HEREFEOFERIO B S 1 OM En,
T A NDIEZESR « BlERE2 N EXHE 5,

REh 2 Rh&EWR LR (Spot the difference) 7 A MZEWT, #ERE OFROH )
NEOW ED, T A NOEZSR - BlERE N LS5,

N
N
—~

BEY
HHED 2 ODIREROMIEE B LT 5,

Fik

BEE 7 2 h T, [Calculation (FHHEE) | & SR IE#R %A 5 Spot the difference ([
HEWEL) | O2fEOT A NEITY, £, EBRIZT X 2 bbEGAER (Randomized
Controlled Trial: RCT) &FEIND, EFOHRATITARRERN &L 2> TWDEHOBIT 5 F
% M5, Calculation, Spot the difference & 12, #EREEZ T X LIZ2OD 7 )L—
TN T, RGO NV—7120F, #EE 1 (BEICAS TH L) OFIE, b5 R0 7 N —
T, S E S (MRimICHEETH 2) OFIEZRNT S bV, Bl 7%, 7 <icd@ii
B OEESEZ) T8y, MELTHEDL I, JA—T D7 X MUICEELTIE, “HEMIE
WD, BEREICIE, EREICHIETS TN RS 2O T 2 N E H 50> U IEE
ZIIRETEBE, TNEEMT D, 20X 7REEICKY, HBREIL Mo N iE-



TeBIEZFRNT WD vE LIV LW IR 2403, 7220, EBEEE THLREE
b TEDOPENELLD I NV—TIZRT 50 ZFRIFITITONLRVIREBICT S Z & 1T
XV, LOERBHRERT —ZE2H[HIENTELLOTHD, M7 V—7LbIiEDT
A RNEZITTH BRI, WRE OB A ZMET 51D T 7 — MUE
A THHV, ERIIETT L, EROFERRIL, FHROT 7 — FMNEZERH G ED T,
#1100 Th D,

BBRE KEA LT 4 ARFOFAEY 1444 (BT 4, L6944 @ 1RIE~4[E4E
HLIZZEOM (REREREE2ETe) O 18~25 5%, FH4HFEE 2095 ) Z2Xt5 L Lz,

T A MM 201624 H 8 H/H 4 20 Hd 12 A THEM L 7=,

TARMRE 7 A MX, A7 40 AKRFHREFROFRERERH (Japanese Culture
(Basic), Japanese Culture (Basic), Japanese Grammar) (23 L 7=,

T A bDOFEN  Calculation TiX, 7 A MZOWT OB, #EREIZ, £9 1 45HEOH)
B (7 A MERICIIK S e 24 L, BIRERK Tk, A7 A MIB D, KT A FTIE,
6— (15— 10 ), Adt 60 MEHEL, 4 9MTHE, A7 A METH, 140
DT o — NMIEE, ZLTT A MIKT LT D,

Spot the difference Ti%, #il# E TliZ Calculation & [REEOBETH Y, K7 A N Tl
4=y, A4 EHE L, 5T E, LI#kIE, Calculation L [FIEETH 5,

7ok, FEBRIKETHEM LZEBRHMKE 7 o — ARG SCOERICE#T 5,

mOR & B &

Calculation ( FHEME ) OFT X MNERZHT

TAME, WRE T2 ANE T ZNI200 7 N—TF (LT, HHE 1 OFIEEREN-S
J—7"% ['Easy group] , 5 5 OHIEA R T- 7 /v—7"% [Difficult group] &Fi7)
2T TR, 7 A MEAYIE, 60 A & T 5,

FT, ENEFhOMEORATFELER~T 5, (M1)

KIZ Easy group & Difficult group @7 A h &K N2 LD ZEDHFHHINZ A B Z feD>
DB, AEKYES % THRMARED t #E 21T o 72 %, t(70)= —0.30, p=0.77 (%
BoF 3 aEVIHERA) L72Y, Easy group & Difficult group @7 A h &{KD R D7
WCHEEITRO N>, (X2)

1) A7 4 AXKEOT 2 —INERICH D, NOFK 656 TADOETHTHY, A7«
ARENT 1912 FEAINEDOMNERFETH D, 708, A2 7 4 ARFED NFA DB DR



X1 FaAHEEH & (Calculation)
1BIRE
Easy group Difficult group
¥ (TARER 7.4 15
BERE 0.261494149 0.180435647
FR{E (ACTV) 8 1
xHAE (E—F) 8 1
BERE 1.590606812 1.067471685
SE 2.53003003 1.139495798
HEEED HEMREOQ
Easy group Difficult group Easy group Difficult group
EHTRERED 7.8 14| | EHFTRFEED 75 7.3
BERE 0.270342808 0.369614185| |1Z#ERE 0.414854838 0.439523916
PRIE (ADTV) 8 8| |PRIE (APTV) 8 8
=HAE (E—F) 9 9| |RHEE (E—F) 10 10
TERE 1.599369624 2.186667008| |12 (RE 2.523463467 2.600258552
e 2.557983193 4.781512605| | 988 6.367867868 6.761344538
HBRER HEBEME®
Easy group Difficult group Easy group Difficult group
THEFTAER) 6.3 6.9 |TFHT AR 4.7 5.1
BERE 0.727055494 0.647907334| |1B#ERE 0.682963698 0.632379602
PRIiE (APTV) 9 9| [PRIE (APTV) 6 5
RIEME (E—F) 10 10| |RBE(E (E—F) 0 0
BERE 4422505914 3.833071481| |B%(RE 415430599 3.741208181
ek 19.55855856 14.69243697| |8k 17.25825826 13.99663866
H:EME® HBRIEO®
Easy group Difficult group Easy group Difficult group
THEFAER) 2.3 28| | TR 0.9 1.1
ZERE 0.570633788 0.609567575| |1E#RE 0.404854481 0.474461848
FR{E (A7) 0 0| |FR{E APTV) 0 0
=IEME (E—F) 0 0| |RHEE (E—F) 0 0
ZERE 3.471029825 3.60625041| |BERE 2.462633664 2.806954149
2E 12.04804805 13.00504202| |9 8K 6.064564565 7.878991597
2 t-FRE: BOBWARE LT 2HEARIC L A8 E (Caleulation)
Easy group Difficult group
EHTREEE 29.5 30.5
HER 205.7552553 204.7260504
A% 37 35
T=ILEhi=5# 205.2553558
RERTFHEDER 0
HHEE 70
t -0.296705988
P(T<=t) /4l 0.383784792
t IEFRE FE 1.666914479
P(T<=t) il 0.767569585
t BRE Ml 1.994437112

Easy group & Difficult group @7 A M KONV RO EITA B EITH O HALRD > T
D, W N—T O T OB RAEE L, TS 7 7 TRl (K3)




3 WIZ—7 - BT E O 5% (Calculation)

Caluculation ® -3 S 5

[ 78 7.5

(4

OHNWH OTOYJ00©

#

e Fasy group == Difficult group

3nn, W=7 TP EEo [HEEMEO) oSk EA Lz, LaL,
MmO DRI, REDMRAICTRE L Z EngAaIun 5,

Calculation DOlj 7 /L —7 D% Z & O m U, FlEZBRE, KEIE RV, [
RG] LIKE, 152508 Easy group & Difficult group Tififis L, eI K #7225 %
figx, THEELWEBE 28R L TW 2 IC 6L 6T, @2 >N, Difficult group
D3R50 R AR E W) FiEER R I o 72 2 EFEA RN D, — 5T, Easy group
TRWNCE G 2Pl E R E,  THEZRRE 28 L T2 bBb 63, REREDIC
DN, kiR BIREA IR B MR o - 2 EFA IS, Lo T, ZDK 3
X0, fE A5 L7 Easy group £V b, I#NZEHE LW 2485k L 7= Difficult
group OHERF 72 H 2%, Hh0 G < BIREICE D MHTeFRfetE DN m < e o 72 2 &b b,

wIZ, M7 NV—70 H@fEO) , [HEfEQ) OYE R OEDHEICAEN T
MDD, AEAUES % CHARED t REZZNENIT-T-, TORER, [HERiE
@) TiE, t(70)=0.92, p=0.36 CINEE 3MLAMEBELA), [HEMBEO) <L, t(70)=
0.24, p=0.81 UNIEE SALZMEEFA) L7220, Mgk & b [Basy 7 /Lb—7| & IDifficult
TN—T | OFEROEIHBETIRD bLeh oz, (K4, K5)

4 tMRE: FOBERE L 2ERICED2RE GLEMED)

Easy group Difficult group
Ty (FAAR) 7.8 7.4
7R 2417417417 4781512605
A% 37 35
T—ILEnt=08 3.565692223
RERFEHENER 0
BEHE 70
t 0.91918475
P(T<=t) F 1l 0.180577788
t BHE HE 1.666914479
P(T<=t) f{8l 0.361155576
t IEHRE Wl 1.994437112




5 tHE: oA NE L 2ERICL ME GHEHEO)
Easy group Difficult group

Ty TREE 75 7.3
SER 6.367867868 6.761344538
A% 37 35
T—ILEht=508 6.558985108

R TEHENER 0

HHE 70

t 0.237844706

P(T<=t) /{8l 0.406348177

t BHRE FE 1.666914479

P(T<=t) f{l 0.812696355

t IWHRE Wl 1.994437112

Spot the difference DT & MER « 7o 7 — M#T
T A M WRE T2 N2 T A D200 NV—7 (LIF, #5E 1 OFEZ RS

)V—"7"% [Rasy group|. #5 & 5 OFE % fif\ /= 7 V—7% [Difficult group| &

W23 CTHEME, 7 A ML, 38 miima s 35,

F9. AREOREAKG’ERETT D,

(X6)

i)

FAHEFH & (Spot the difference)
{578
Easy group Difficult group
EHTRANRE 9.7 2.7
TAERE 0.076178083 0.268650087
FRIE (APTV) 10 2
xHE (E—F) 10 2
ZERE 0.463373192 1.589355347
7E 0.214714715 2.52605042
HEBED HEBMEQ
Easy group Difficult group Easy group Difficult group
EH(TARER) 9.1 82| |[FHFTRFEF 6.3 6.0
FHERE 0.153946013 0.235809759| |1E#ERE 0.327994746 0.29129013
FR{E (ADTY) 9 8| |PRIE ATPTV) 7 5
HEE (E—F) 10 9| |RIEE (E—F) 7 5
ZERE 0.936417042 1.395069349| |1Z¥RE 1.995114152 1.723295651
nE 0.876876877 1.946218487| |9 8K 3.98048048 2.969747899
HEMBEQ HEREED
Easy group Difficult group Easy group Difficult group
EH(TAMEERD 3.2 35| | FHFTARER 26 3.6
BERE 0.291020276 0.263688856| |1Z#ERE 0.425288207 0.438101327
FRE (A7) 4 4| |hRIE ADTV) 2 4
REE (E—F) 4 4| |RHBE (E—F) 0 0
TERE 1.770207229 1.560004309| |[{Z#(R= 2586927172 2.591842406
SR 3.133633634 2.433613445| |58 6.692192192 6.717647059




KIZ Easy group & Difficult group D7 A~ &{KD W44 il D 22D HFH I A B D & e
D LT=0IZ, FEARMES % THIE D t ME 21T > 7R, t(70) =-0. 10, p=0. 92 (/MK
% 3ALIUHETLN) L72 0, [Easygroup) & [Difficult group) M7 & b &KED Y E D%
ICHEZATRO bR o7, (K7)

7T tRRED FAOWBAGE LT 2 BEARIZ X HE (Spot the difference)

Easy group Difficult group
EH(TRARRE 21.2 21.3
SER 20.61861862 11.10420168
A% 37 35
T—ILEht=58 15.99733039
RERTFHEDER 0
BHE 70
t -0.103986948
P(T<=t) K18l 0.458738535
t BRE FA 1.666914479
P(T<=t) W48l 0.91747707
t IBHE Al 1.994437112

TiX, THCE BT A MO EZE TR LTDDEENO D120, £F, 71—
TOFRM I E OV R EEHT 5 &, Easy group Ti, BIEERZO [H@liEO) LI,
RIEEA T 23, Difficult group %, HIEEE®Z O [H@EREO] TIEAEN EH L, T4t
HWEQLE] 1L, RN TRELE, (K8)

8 W —7 BT & DO RE (Spot the difference)

Spot the difference® -5 154K

" 9.7 91
8
T 6
4
|
2 I
I
0 I
I

HafEO© LEfEO LEfEe LEfkE®

Easy group == Difficult group

Spot the difference O 7 /L— 7 D[ = & OV 8%, Calculation O#E R & [AlFR
2, Bl ZRE, REIF W, THEERMES] LK, YRS Easy group & Difficult
group TR L, RANCHEERFIREZME, TEE LW 28R L TW2IZL L LT,



M T2 D4, Difficult group 23K5 0 3R < MEZ M &0 D FRtEN @< e o722 &
WaiA D, —F5 T, Easy group (TRANCE G Bl A RS, [flHERRBH] 278 L
TWDIZHEDL LT, K0 R EZ M < FfetEME< 2 2 2 LR A I D, W 2T,
ZOK8 Xy, [ffHERREE Z85k L7z Easy group KV &, &HIZ [#ELWRBE %
#&k L7 Difficult group O#ERZE 7= H725, 0 R < BIEIZHR Y MTeFrfetkEns m < e o 7
ZEBb0D,

THEWRIZ, W7 A—70 HEEEO) , TH@sEO] DX RO 2N FEICH ED
EREND DT DI A EIKUES % THAIRED t MEE ENENT o IS, T B EO)
TiX, t(70) =3.157, p=0. 002 UVINEE 4 L& UEEFHA) & 720, TEasy group] & [Difficult
group) @ TILEMEO] OFLRICHBEENRBD b, (K9)

F7-. TH5EREO ] T, t(70) =0. 68, p=0.50 UNEEE 32T A) TH Y | [Easy
group| & [Difficult group) O HOEICHEZITRD Lo T-, (X 10)

9 tME: FHOBERE L 2ERICEDRE GLEMED)

Easy group Difficult group

I (TRE=EED 9.1 8.2
7E 0.876876877 1.946218487
A% 37 35
T—IEhi=58 1.396271373

RERFHENER 0

BHHE 70

t 3.156731723

P(T<=t) I 1l 0.001176862

tIRRE FE 1.666914479

P(T<=t) 0.002353724

t FEHE mfl 1.994437112

10 t-E: SO AEIE L 2EmAIC L 2HE (L@aifEe)

Easy group Difficult group

Ft (TR EE) 6.3 6.0
7E 3.98048048 2.969747899
&A1 37 35
T—LEh =58 3.489553227

R FEHENER 0

BHHE 70

t 0.678461048

P(T<=t) /{8l 0.249858132

tIRRE F{E 1.666914479

P(T<=t) 1Al 0.499716265

t IWRE @ 1.994437112

T, T — boEM TEOMEBWRELN —-FB L0 IOV THEEE
%, Easy group, Difficult group & ZnZ/ X—t> 7T —UTRHT S &, BBEWEER
PREbNTZ, (K1) Zhug, mZr—7Lb, THEEREO) B—FK oo LEIZEL
TEIE DRI E N7 2 EThDH, £ 2T, HEMEO ] BNEr-o B HEZE L 729,
W7 N—"7 « ZFREOEZERICER L TAHRL, (X12)



LU s, HEERBEO) OEZERL, W7 —7E bR L TEIERNoTo, OF
v, MEORL S & IEERIIFMEBEERIIA N R o 70, 2, EZFOHENITH 503,
W27 N—7 0% OEHRE D THHEMEG) 28R LcEbm e LT, 2TOEMRICILDF
FleholcinbZ®, ZOMBIZHKEZRD, LI LATLZOTIIRNAINEEZ D,

%72, Easy group ®H T, MEOFE (Fl#E+L@EMEO+HEMEOQ) 22 LiroTz
ERIE LT 1L, 2D 44%, FEO#% Y (H@EEEO + HEME®) 1%, 56% Th
o7z, —J5C, Difficult group OH T, FBEOFT:Z K Lo Tz & FIE L7-giRE 13X, 2K
D 31%, MBDH T, 69% Th o7, ZNHOFER LY, W7 —7 & b IBEO% 54
LA TWAHERE DEIENEWZ ERbho Tz, K2, Difficult group TiE, [#il#E] Tk
WNT THELWERB) 2B L TV a0, #BRE 0K 7 BINZEOMELIE LA TS, Z
D LN, AR TIRATz, K0 RS OFHElE A mD T DD h Lt

11 FOMBEWVELR—FE LI =

N A= » ~H2
EDFIEWEE LN —FE Lo T2
70 I 62.9
e 60 (HT) I 55.6 (%)
=50 i
AN 1
| 40 i
IN H
N\ 30 E
20 16 7
> 5.7
< 0 : 0.0 m
il RIS N8O JLEMEe HmkE®
W Easy group M Difficult group
12 W7 L—"7" « 20 T & DIEER
SGt S92
B
100 o7
90
e 80
’\/ 70 63 60
1\ 60
R
AN 39 35
N30 27
J 20
N 10
0
|55 D LA HEMEG i
®m Easy group M Difficult group

9



F & ¥

AT, KEFEEZNGIC2HEOT A b GHRIE - FiEWRLIE) 2175 7 v &
LCHEGRR 21TV, T A REiD TH ORI Om ERBROFHES, ZDHDT A M A
ATICKRIETHELER L CET,

FERFER NG, EFONL TG, 2 & bIZEHR SN, DF Y, Easy group &
Difficult group ZI1%, MEHUAERT A NA T OEZRDHZ LITTE o7z, Ll
RIND, T A NEZERORFROHER 2 b4 2 &, FHHERE (Calculation), MEWEEL
& (Spot the difference) & & (27 2 BLBREEWMEA A R S5 Z E BRI DN o7z,
BRI, FHAERIE (Calculation) - REWEE LRI (Spot the difference) & 12, &
DB ERNTNDT A N2 AL — kN LI 70— T OWERE DI H5, RS2 il E 2 fig\
THOBTANEAZ =ML A= OHBRELD S, (1) 7 A FAPEOIEZERILE O,

(2) TAMEEOEZERITELS RDZENWALNTRoTz, EHIT, HENELIED
FERBLOFEZLOT 7 — MERNS, WEERFEZ N T-HRE L, 72 MFITH D
FEWELMEZ TXVgEThs] LHEEZEL TSI E B LNIRST, ZHUL, &
Gy Z RN TR E O TR ) om EOSRIT—RTH D2 L, £ L THEE
IRPIREE R Z EDHEBRE OREBRMI A RO ENEOERIIHDL EBZ LT,

INOOWEX, EENT AV DEFPICEmM LD TH D, SHBOMIEHRE, Hn
PR LCIE, KETER LT A MBIOT V7 — Ml &2 KRR K204 Eii
L, AXRHEBOHIIEE LTRERRESERLZWVWEEZTND,

z % X W

Bandura, Albert (1977) Self-efficacy: Toward a Unifying Theory of Behavioral Change
Psychological Review 84, 191-215.

Cervone, D. and Peake,K.(1986) Anchoring, efficacy and action: The influence of
judgmental heuristics on self-efficacy judgments and behavior. Journal of Personality

and Social Psychology 50, 492-501

WATAEZE (2004) 7 A B ARZ2, HEA R, H CHEEFRE KT A 37—~ A D RE M
— R AFELELE OT A MR E L T—, HELOFEFME 52, 426-436.

TR (2015) T597)) OREF, TAAAT7—+ by T 4T,
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Spot the difference (FEMEO~®)

(Question®)  Spot the difference (Question@)  Spot the difference

There are 10 differencesin the two pictures. Please circle all differences.

There are 10 differencesin the two pictures. Please g;mjg_au_dﬂexmgﬁ

Please answerall 4 sheets Question (D~@) within 5 minutes. Please answer all 4 sheets Question D~@ within 5 minutes.

(Question®)  Spot the difference
(Question@)  Spot the difference

There are 8 differencesin the two pictures. Please circle all differences. . . .
There are 10 differencesin the two pictures. Please circle g'l] dlfferegces.

»

= :
Please answerall 4 sheets Question D~@ within 5 minutes. Please answer all 4 sheets Question (D~@ within 5 minutes.

11



Easy group (f517)

(Sample Question)  Spot the difference

There are 10 differences in the two pictures. Please circle all differences.

The required time 1 minute

Don’t turn to the next page if vou finish earlier than the time limit. please.

¢ This Sample Question doesn’t influence your test results

12



Difficult group (f57)
(Sample Question)  Spot the difference

There are 10 differences in the two pictures. Please circle all differences.

The required time 1 minute

Don’t turn to the next page if vou finish earlier than the time limit, please.

¢ This Sample Question doesn’t influence your test results

13



Spot the difference (FLi@7 > 77— )

Questionnaire

Read the questions and circle the things that apply on the questionnaire.
(1) What is your sex ? ( Male / Female )

(2) What is your classification?

( freshman / sophomore / junior / senior / others )

(3) How often do you play sports? ( Example : once a week, twice a month )

(

(4) Compared with other people who took this test, how do you think you performed?

Please circle a number.

better a little better neither not a little worse worse

(5) Were you interested in this test? Please circle a number.

interested  a little interested neither not very interested not interested

(6) Which “Spot the difference” was the most interesting? Please circle a number.

T oo oo o o s D e e e e e F e e e e e Lo oo e e e 5
Sample Question Question(D Question@ Question® Question®@
(Sea) (Snow scene) (The boats) (Cat carnival) (The boy and

dog)

This is the end of the test. Thank you for your cooperation. Yuta Horiguchi

14



Calculation (FEEO~®)

ti Calculati
(Question®) RO (Question@) calculation

LEL 3 - B = M6 +2+10=

@ag =49+ 92 = @22+14x2=
@38+2X3= §)38—87=+1=
45 —45 +9 = 4 18+52+26=
B5)77 +74 +37= B)12 X5 —40 =
6) (54 —42) + 4= 6) 7% (58+2) =
(7) (97 —87) X5 = (M (37 —-7) +3=
8 (76 —69) +1 = ® (29+1) X7=
@ (52—-51) X 2= 9 (88 —78) + 2=
(100 4 X (39 —28) = (10) (23 + 7) X6 =

Please answerall 6 sheets Question M~@® within 4 minutes, Pleaseanswerall 6 sheets Question (D~® within 4 minutes.

(Question®) Calculation (Question@)  Calculation
19714+ 2= D0+ 1x13=
@2 2+29+1= 2025 — 42 + 92 =
@26 xX1—-6= D7 +49+T=
459 +1—2= @ 70X 1—=T=
B)10X 8+ 20= 5)81 +9—6=
B)44 X (62 — 60) = 6)7xX (53+47) =
(M5 X (62 —60) = (M (97 —-91) +2=
® (92 +8) 2= 8 (99 —-92) X 5=
(9 (45 —40) x 2 = 9 (64 —46) +18 =
10) (91 +9) = 50 = (10) (6 + 74) x 2 =
Please answerall 6 sheets Question D~® within 4 minutes. Please answerall 6 sheets Question M~ within 4 minutes.
(Question®)  Calculation (Question®) Calculation
ags +7—2= MD15x2—15=
22 x6+8= (2036 9 —2 =
389 +1+5= 38 x1+20=
(489 + 2 x 4= 496 +96 + 89 =
(5) 84 — 45 + 5 = (B 43+ 2 x 4=
6 (2+4) x9= ® (93 —-90) +1=
(M63 X (42 —40) = M (67—-62) X9 =
®2x (2+8) = ® (95 —-85) +2=
9 (62 —56) +3= @ (12+18) xX3=
(10) (60 —53) X 2 = (10) 4 x (55 —49) =
15

Please answerall 6 sheets Question (D~@ within 4 minutes.



Easy group (&)

(Sample Question)  Calculation

The required time 1 minute

(1) 9 =+ 3 + 2

2) 7 + 2 x 3 =

(10) 8 - 6 + 3 =

Don’t turn to the next page if you finish earlier than the time limit, please.

¢ This Sample Question doesn’t influence your test results
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Difficult group (f55)

(Sample Question)  Calculation

The required time 1 minute

(1) 40 x 22 - 78 =
2) 887 + 1 - 275 =
3) 33 x 40 + 952 =
4 772 + 193 + 668 =

(5) 80 + 110 x 8 =

6) 85 - 623 + 89

(7) 84 + 340 =+ 20

8) 65 x 3 - 16 =

9) 784 + 16 - 24

(10) 74 x 5 + 94 =

Don’t turn to the next page if you finish earlier than the time limit. please.

¢ This Sample Question doesn’t influence your test results
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Calculation @7 > 77— 1)

Questionnaire

Read the questions and circle the things that apply on the questionnaire.
(1)What is your sex ? ( Male / Female )

(2)What is your classification?

( freshman / sophomore / junior / senior / others )

(3)How often do you play sports?  ( Example : once a week, twice a month )

(

(4)Is math your strong subject or weak subject when you were an elementary school

student? Please circle a number.

strong a little strong neither a little weak weak

(5)Compared with other people who took this test,

how do you think your speed of calculation? Please circle a number.
early a little early neither a little slow slow
(6)Compared with other people took this test,

how do you think of your accuracy of calculation? Please circle a number.

accurate a little accurate neither not very accurate not accurate

(7 )Were you interested in this test? Please circle a number.

interested a little interested neither not very interested not interested

This is the end of the test. Thank you for your cooperation.  Yuta Horiguchi
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